
 

Encon Safety Products, Inc. 
Doc. No: 01999951 Rev. D 1 of 4 
Issue Date: 12/09/2014 

 INSTALLATION  •   OPERATION  •   MANUAL 
  
 Shower Testing Unit #1 (STU1) 
 With Testing Chute and Cart with Receptacle 
 MODEL  02570001  SHOWER TESTER CHUTE 
 MODEL  01110697  RECEPTACLE ASSEMBLY ONLY 
 MODEL  01110306  TRANSPORT CART ONLY 
 
COMPONENT LIST FOR TESTING UNIT PRODUCT DESCRIPTION 
(Ref. Figure 1 and 2 below) Portable 28 Gallon Self-Contained Shower Tester units 
A: Shower Tester Chute (Fig 2) for use in testing emergency shower GPM. 
B: Transport Cart Units are designed to be placed under emergency shower 
C: 28 Gallon Receptacle and Drain Assembly and collect the water used in the testing. 
 
 

 
 
 
 
 
 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
  

FIGURE  2 
MODEL STU1 SHOWN 

  (See installation instructions on page 3) 
 
 
 
 
 
             FIGURE 1



 

Encon Safety Products, Inc. 
Doc. No: 01999951 Rev. D 2 of 4 
Issue Date: 12/09/2014 

   
 
FIGURE 3



 

Encon Safety Products, Inc. 
Doc. No: 01999951 Rev. D 3 of 4 
Issue Date: 12/09/2014 

COMPONENT LIST FOR TRANSPORT CART & 
RECEPTACLE MODEL 01110306 & MODEL 
01110697 
(Ref. Figure 3 on page 2) 
1. Base Plate (1) 
2. Front Leg (2) 
3. Upper Support (1) 
4. Rear Leg (2) 
5. Axle (1) 
6. Axle Support (2) 
7. Locking Caster (2) 
8. 10” Wheel (2) 
9. Bolt, ¼”-20 x 2½” lg. (2) 
10. Bolt, ¼”-20 x ¾” lg. (14) 
11. Lock Nut ¼”-20 (16) 
12. Flat Washer ⅝” (4) 
13. Cotter Pin (2) 
14. Stop Plate (1) 
15. Hand Grip (2) 
16. Receptacle (shown below) 
17. Drain (not shown) 
 
TOOLS REQUIRED 
 
Rubber Mallet 
Pliers 
⅞” Wrenches (2) 
 
INSTALLATION INSTRUCTIONS FOR 
TRANSPORT CART ONLY 
(see Figure 3 on page 2 as reference) 
 

1. Using rubber mallet, tap the axle supports (#6) to both ends of the 
axle (#5). Some lubricant may be necessary because the axle and 
hole may be tight due to excess paint. 

2. Attach axle (#5) and support (#6) assembly to inside of base plate (#1) 
using four ¾” long bolts (#10) and lock nuts (#11). 

3. Place ⅝” washer (#12), then 10” wheel (#8), ⅝” washer (#12), and 
cotter pin (#13) on each end of axle (#5).  Collar on wheel hub should 
be installed facing the base plate (#1) on cart. 

4. Tap casters (#7) into sockets on base plate (#1) front, be careful not to 
damage wheels. 

5. Push hand grips (#15) onto rear legs (#4). 
6. Attach upper support (#3) to front legs (#2) and to rear legs (#4) using 

two 2½” long bolts (#9) and lock nuts (#11). 
7. Attach front legs (#2) and rear legs (#4) to base plate (#1) using eight 

¾” long bolts (#10) and lock nuts (#11). 
8. Install stop plate (#14) to base plate (#1) using two ¾” long bolts 

(#10) and lock nuts (#11). 
 
INSTALLATION FOR TESTING UNIT  
(see Figure 4 as reference) 
9. Attach the drain assembly (#17) to the receptacle (#16).  Remove the 

flange nut and one gasket from the bulkhead of the drain assembly. 
Insert the bulkhead/drain assembly into the hole located in the bottom 
of the receptacle with the drain valve to the outside. From the inside of 
the receptacle, attach the gasket and the flange nut. Proper 
installation requires one gasket on the inside and one on the outside 
of the wall of the receptacle. The valve should be positioned with the 
handle to the top. Tighten the bulkhead assembly to prevent leakage. 

10. Set the receptacle with the drain assembly attached onto the mobile 
cart. Position the receptacle so that the drain assembly is toward the 
front of the cart. 

 
 
 
 
  
 
 
 FIGURE 4 - SIDE VIEW 
 
 RECEPTACLE ASSEMBLY ONLY 
  MODEL 01110697 
 TRANSPORT CART ONLY 
  MODEL 01110306 
 
 



 

Encon Safety Products, Inc. 
Doc. No: 01999951 Rev. D 4 of 4 
Issue Date: 12/09/2014 

SHOWER TESTING UNIT 1 
TESTING INSTRUCTIONS 
 
1. Secure large end of test chute with drawstring around showerhead. 
2. Position the mobile receptacle cart under the shower and place the narrow end of the test chute inside of receptacle. 
3. Activate shower. 
 
20 GPM Regulated Showerhead 
4. Time activation for 30 seconds. 
5. The first molded line of the receptacle represents a volume of approximately 11 gallons. Water level should be at or slightly below this line of the receptacle. This 

ensures the showerhead is providing the minimum 20 gallon per minute (GPM) as required by ANSI Z358.1 2009. 
 

Note: The second molded line of the receptacle represents a volume of approximately 21 gallons. You may allow the shower to run for one minute and the water level 
should be at or below this line. 

 
6. Empty receptacle by opening the drain valve. 
 

Note: The receptacle will retain approximately one gallon of water.  Be sure to empty remaining water or take into account on subsequent tests. 
 

7. Record testing results on inspection tag. 
 
30 GPM Regulated Showerhead 
4. Time activation for 20 seconds. 
5. The first molded line of the receptacle represents a volume of approximately 11 gallons. Water level should be at or slightly below this line of the receptacle.  This 

ensures the showerhead is providing 30 gallon per minute (GPM) as required by ANSI Z358.1 2009. 
 
Note: The second molded line of the receptacle represents a volume of approximately 21 gallons. You may allow the shower to run for 40 seconds and the water level 
should be at or below this line. 
 

6. Empty receptacle by opening the drain valve. 
 

Note: The receptacle will retain approximately one gallon of water. Be sure to empty remaining water or take into account on subsequent tests.  
 

7. Record testing results on inspection tag. 

WARRANTY STATEMENT 
ENCON HEREBY DISCLAIMS ALL WARRANTIES EXPRESSED OR IMPLIED INCLUDING BUT NOT LIMITED TO WARRANTIES OF 
MERCHANTABILITY, FITNESS FOR A PARTICULAR PURPOSE, AND NON-INFRINGEMENT OF THIRD-PARTY RIGHTS, EXCEPT AS 
HEREINAFTER PROVIDED. 
Encon Safety Products warrants that for one year from the date of purchase of any Encon products, the product will be free of defects in materials 
and workmanship if properly used and cared for or cleaned under normal conditions in accordance with Encon’s use and care instructions and 
properly installed, if applicable, in accordance with Encon’s installation instructions. With respect to the product, Encon’s only obligation and 
purchaser’s exclusive remedy under this warranty is to repair or replace such product; provided that: 

1. Encon is notified of the defect within one year of shipment, and 
2. the product is determined by Encon to be defective. 

Encon requires proof of original ownership as proof of warranty coverage, and Encon must receive any claim under this Limited Warranty within one 
year of purchase of the product. 
NOTWITHSTANDING ANYTHING TO THE CONTRARY CONTAINED HEREIN, ENCON SHALL NOT BE LIABLE FOR LOSS, DAMAGE, OR 
EXPENSE ARISING DIRECTLY OR INDIRECTLY AS A CONSEQUENCE OF USE OF THE EQUIPMENT WITH OTHER PRODUCTS OR FROM 
ANY OTHER CAUSE, INCLUDING ANY CONSEQUENTIAL, INCIDENTAL, SPECIAL OR EXEMPLARY DAMAGES, EXCEPT FOR ENCON’S 
OBLIGATION TO REPAIR OR REPLACE DEFECTIVE PRODUCTS AS EXPRESSLY PROVIDED IN THIS STATEMENT. 
Replacement parts purchased from Encon are warranted for one year following the shipment of such replacement part, or until the expiration of the 
warranty period for the product, whichever is less. No warranty is given in connection with products that are altered without Encon’s expressed written 
consent. The same warranty limitations and the obligations of Encon as set out herein above shall apply to replacement parts. 
Encon’s total liability arising out of this warranty (including, but not limited to, warranty claims) regardless of forum and regardless of whether such 
action or claim is based on tort, contract or otherwise will not exceed the total purchase price of the product. 

 
6825 W. Sam Houston Pkwy. N (77041) 

P.O. Box 3826 • Houston, Texas (77253) 
(713) 466-1449 • Fax (713) 466-1703 

1-800-AT-ENCON / 1-800-283-6266 
customerservice@enconsafety.com 

http://www.enconsafety.com 

mailto:customerservice@enconsafety.com?subject=Encon Customer Service
http://www.enconsafety.com

